Project Name: Pavement Resurfacing - El Rio Area Spec. No. RD21-09 Abstract of Bids opened on May 11, 2021

ENGINEER'S ESTIMATE: 840,000.00

LOW BIDDER - Toro Enterprises, Inc. Oxnard, CA 93031	690,957.76
2nd Bidder - All American Asphalt Corona, CA 92879	692,962.50
3rd Bidder - Onyx Paving Company, Inc. Anaheim, CA 92806	727,000.00
4th Bidder - Granite Construction Company Ventura, CA 93003	767,481.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, County of Ventura, at the time and place designated in the Notice Inviting Bids, were publicly opened, read, and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: Ariel Braza

Bids opened on May 11, 2021			ENGINEER'S	STIMATE	LOW BIDDER		2nd Bidder		
Project Name: Pavement Resurfacing - El Rio Area			Toro Enterpri		Toro Enterprises, I	nc.	All American Aspha		
					P. O. Box 6285		400 East Sixth stre		
	_				Oxnard, CA 93031		Corona, CA 92879		
Spec. No. RD21-09			_				100000000000000000000000000000000000000		
ITEM									
NO. ITEM 1 Mobilization	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
	LS	1	78,004.00	78,004.00	66,000.00	66,000.00	79,000.00	79,000.00	
2 Traffic Control and Construction Signing B Water Pollution Control	LS	1	70,000.00	70,000.00	30,000.00	30,000.00	28,000.00	28,000.00	
	LS	3	5,000.00	5,000.00	7,500.00	7,500.00	6,000.00	6,000.00	
Tree Removal, Girth = 68" (22" Diameter)	EA	3	2,000.00	2,000.00	2,500.00	2,500.00	2,530.00	2,530.00	
Tree Removal, Girth = 70" (22" Diameter)	EA	1	2,000.00	2,000.00	2,500.00	2,500.00	2,630.00	2,630.00	
Tree Removal, Girth = 73" (23" Diameter) Sidewalk Grinding	EA	1	2,000.00	2,000.00	2,800.00	2,800.00	2,950.00	2,950.00	
Oldowalk Oliving	LF	146	20.00	2,920.00	19.50	2,847.00	37.00	5,402.00	
R&R PCC Sidewalk	SF	925	15.00	13,875.00	14.00	12,950.00	14.00	12,950.00	
Reinforced Cross Gutter	SF	25	40.00	1,000.00	61.00	1,525.00	95.00	2,375.00	
0 Reinforced Driveway Gutter	LF	55	75.00	4,125.00	73.00	4,015.00	83.00	4,565.00	
1 R&R PCC Curb & Gutter	LF	194	50.00	9,700.00	68.00	13,192.00	66.00	12,804.00	
2 Curb Opening Catch Basin with MH	LS	1	12,000.00	12,000.00	12,000.00	12,000.00	10,000.00	10,000.00	
3 18" PVC Drain Pipe	LF	37	250.00	9,250.00	170.00	6,290.00	290.00	10,730.00	
1.5-Sack Slurry Backfill	CY	6	250.00	1,500.00	235.00	1,410.00	210.00	1,260.00	
5 ADA Detectable Warning Surface	EA	2	750.00	1,500.00	510.00	1,020.00	1,160.00	2,320.00	
6 5-Wide Cold Milling	LF	10770	1.50	16,155.00	1.50	16,155.00	1.15	12,385.50	
7 1.5" Grinding	SF	12570	0.40	5,028.00	0.60	7,542.00	0.32	4,022.40	
8 AC Taper with Key	SF	8400	0.60	5,040.00	0.50	4,200.00	0.23	1,932.00	
9 AC Base Repair	TN	48	250.00	12,000.00	214.00	10,272.00	218.00	10,464.00	
20 Asphalt Rubber Aggregate Membrane (ARAM)	SY	33802	6.00	202,812.00	4.38	148,052.76	4.20	141,968.40	
21 1.5" Thick AC Hot Mix with Fiber Reinforcement	TN	3056	115.00	351,440.00	102.00	311,712.00	102.00	311,712.00	
22 12" Wide Stop Line	LF	143	25.00	3,575.00	3.00	429.00	7.40	1,058.20	
Road Surface Marking (STOP)	EA	7	350.00	2,450.00	130.00	910.00	317.00	2,219.00	
24 Regulatory Sign Post	EA	3	500.00	1,500.00	230.00	690.00	370.00	1,110.00	
Mounted Sign on Existing Fence	EA	5	375.00	1,875.00	109.00	545.00	159.00	795.00	
6 Survey Monument Frame Adjustment	EA	1	1,500.00	1,500.00	900.00	900.00	641.00	641.00	
P.7 Sewer Manhole Frame Adjustment	EA	17	1,000.00	17,000.00	900.00	15,300.00	641.00	10,897.00	
28 Sewer Cleanout Cover Adjustment	EA	1	750.00	750.00	900.00	900.00	641.00	641.00	
29 Bollard Post	EA	8	500.00	4,000.00	850.00	6,800.00	1,200.00	9,600.00	
Release on Contract	LS	1	1.00	1.00	1.00	1.00	1.00	1.00	
TOTAL			-	840,000.00		690,957.76		692,962.50	

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Copies: Director PWA, PM: Ariel Braza

Bids o	pened on May 11, 2021	3rd Bidder		4th Bidder		
	t Name: Pavement Resurfacing - El Rio Area	Onyx Paving Com	pany, Inc.	Granite Construction	n Company	
<u> </u>		2890 E. La Cresta		4820 McGrath St., #101		
		Anaheim, CA 928	- · · ·	Ventura, CA 93003		
	Spec. No. RD21-09			Vendra, CA 30005		
ITEM	1					
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	Mobilization	30,959.62	30,959.62	63,800.50	63,800.50	
2	Traffic Control and Construction Signing	96,000.00	96,000.00	30,545.00	30,545.00	
3	Water Pollution Control	1,000.00	1,000.00	5,150.00	5,150.00	
4	Tree Removal, Girth = 68" (22" Diameter)	2,700.00	2,700.00	2,400.00	2,400.00	
5	Tree Removal, Girth = 70" (22" Diameter)	3,000.00	3,000.00	2,500.00	2,500.00	
6	Tree Removal, Girth = 73" (23" Diameter)	3,200.00	3,200.00	2,800.00	2,800.00	
7	Sidewalk Grinding	11.00	1,606.00	25.00	3,650.00	
8	R&R PCC Sidewalk	13.00	12,025.00	15.40	14,245.00	
9	Reinforced Cross Gutter	60.00	1,500.00	96.00	2,400.00	
10	Reinforced Driveway Gutter	100.00	5,500.00	147.00	8,085.00	
11	R&R PCC Curb & Gutter	69.00	13,386.00	134.00	25,996.00	
12	Curb Opening Catch Basin with MH	10,000.00	10,000.00	12,550.00	12,550.00	
13	18" PVC Drain Pipe	200.00	7,400.00	240.00	8,880.00	
14	1.5-Sack Slurry Backfill	1,000.00	6,000.00	155.00	930.00	
15	ADA Detectable Warning Surface	1,000.00	2,000.00	600.00	1,200.00	
16	5-Wide Cold Milling	1.42	15,293.40	1.20	12,924.00	
17	1.5" Grinding	0.55	6,913.50	0.25	3,142.50	
18	AC Taper with Key	0.55	4,620.00	0.30	2,520.00	
19	AC Base Repair	300.00	14,400.00	315.00	15,120.00	
20	Asphalt Rubber Aggregate Membrane (ARAM)	4.24	143,320.48	4.50	152,109.00	
21	1.5" Thick AC Hot Mix with Fiber Reinforcement	105.00	320,880.00	118.00	360,608.00	
22	12" Wide Stop Line	7.00	1,001.00	5.00	715.00	
23	Road Surface Marking (STOP)	142.00	994.00	100.00	700.00	
24	Regulatory Sign Post	300.00	900.00	325.00	975.00	
25	Mounted Sign on Existing Fence	100.00	500.00	40.00	200.00	
26	Survey Monument Frame Adjustment	1,500.00	1,500.00	1,015.00	1,015.00	
27	Sewer Manhole Frame Adjustment	600.00	10,200.00	1,385.00	23,545.00	
28	Sewer Cleanout Cover Adjustment	600.00	600.00	1,015.00	1,015.00	
29	Bollard Post	1,200.00	9,600.00	970.00	7,760.00	
30	Release on Contract	1.00	1.00	1.00	1.00	
	TOTAL		727,000.00		767,481.00	

Copies: Director PWA, PM: Ariel Braza

Spec. No.RD21-09 Project No. 50598

PROPOSAL

Contractor's Name	TORO ENTERPRISES, INC.	

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
GREENCOAST LANDSCAPE, INU.	1009650	P.O. BOX 430 CAMARINO, CA	TREE REMOVAL
MANHOLE ADJUSTING INC.	398443	9500 BEVERLY DR PILD BINERA, CA	DRAM

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at lease 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.

Spec. No.RD21-09 Project No. 50598

PROPOSAL

Contractor's Name _All American Asphalt

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
V&E Tree Service	654506	PO Box 3280 Orange, CA 92865	Items #4-6
American Pavement Systems, Inc.	943792	1012 11th Street Modest, CA 95354	Item #20
Cal-Stripe	685387	2040 East Steel Road Colton, CA 92324	Items #22-25

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at lease 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.